Find each value, given its distance from the mean.

1) 1 standard deviation above the mean

X =45 +¢.22(53.2 wmts)

3) 1 standard deviation below the mean

is Normal?!

A set of data with a mean of 45 and a standard deviation of 8.3 is normally distributed.

2) 3 standard deviations above the mean

X=45+3(82)=[61.7 unts )

2 standard deviations below the mean

45 -2(8-2) (28, _wats]

4)
X

5) Label the x-axis at 1, 2, and 3 standard deviations from the mean for each normal distribution.

mean = 95; standard deviation = 12
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mean = 23.8; standard deviation = 5.2

g.2- 13.4 86 23.8 29 312 31.4
umts

6) A set of data has a normal distribution with a mean of 5.1 and a standard deviation of 0.9. Find the percent

of data within each interval.

a. between 6.0 and 6.9
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b. between 4.2 and 6.0
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7. The average milk production of California cows follows a Normal distribution with a mean of 70 Ibs and a

standard deviation of 13 Ibs. One particular cow produces 90 Ibs of milk.

: - (16 -%0)
a) Find this cow's z-score. (2 =1.59
b) What;per nt.of ¢ oduce less than this cow? ; 74 2% \ ~Tny v
P(%Ll, Ll = .qggL i -3 - -\ °© \ 2 3
¢) What is the probability of selecting a cow that produces more than this cow? x

?(2>154) = (-6.4222 .[0.06\9 |




Study the two graphs below
A standardized normal distribution has a me A
where the vertical line representing BMI=30 (N
(right). The area to the left of Z = 0.16667 ca

andard deviation of 1. Here's an example,
ne standardized distribution with Z = 0.16667
"I P(Z < 0.16667).

=40.166667
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Use Table A on page 3 to look up the given probabilities: shorturl.at/fGIK2

1 P(z>1)=\—0.8‘-{\3=°'\58'+

2; P(z<-2)=

3. P<z<f)= O.8412—0.\58F -0.(82G |
4 Pe>3=|—0.993%=[0.0013) |

6. Use the normalcdf feature of your calculator to find the probabilities. A complete solution should have: ()

Graph of normal distribution labeled and area shaded (ii) Notation that communicates what you are finding (jii)

Indicate the mean, standard deviation, lower bound and upper bound clearly . You must label the statistics in your
L calculator syntax!!

a) mean = 40; standard deviation = 6, find the probability that a value is greater than 45.

f’(x>°\5§ 2 (\ovmaﬂ.CDF(\owur';‘B/ quef.—. o0, X =10, Sx =6)
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b) mean =100; standard deviation = 11.3, find the probability that a value is less than 98. 4

, ?(x4?8)=

i

normal(_DF(\ouJu“;—w, upper=9¢, 3 _yo, Sx =\ 3)
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¢) mean = 50; standard deviation = 4, find the probability that a value is between 48 and 52. Gy
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d) mean = 22; standard deviation = 4, find the probability that a value is less than 20 or greater than 24

F(x<20 U X>24) = 03085 + 6.3085
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